Selection Kdark = oclcfg’;’k Kdark = ocggill: Kdark = ucgggrt
pr(J12) > 200GeV, 11(J12) < 24 78.1 83.5 82.3
Rt > 0.15 40.5 39.7 453
An(J1,]2) < 15 771 80.0 82.1
mr > 1.5TeV 87.6 81.8 72.3
N, =0 97.9 96.8 96.1
Ne=0 99.6 99.4 99.3
piss filters 99.8 99.8 99.9
AR(j1 2, Cnonfunctional) > 0.1 95.0 95.2 95.5
veto f,(j1) > 0.7 & pr(j1) > 1.0 TeV 99.3 99.7 99.6
Apmin < 0.8 86.3 87.7 77.1
Efficiency [%] 17 17 15
high-Rt 57.8 452 49.1
low-Rt 422 54.8 50.9
high-SV]2 31.5 34.6 26.6

low-SV]2 21.9 42.3 27.3



